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04. Option (A) is the correct answer. ‘Vim’ means ‘energy’.
05. Option (C) is the correct answer. The correct spelling is ‘Ubiquitous’.
07. Option 'A' : Envelop and 'B' : 'Courier' both are infinitives, and so both are correct answers.
12. Option (A) is the correct answer. Option (C) cannot be the correct answer as it starts

with a capital letter.
14. Option (C) is the correct answer. ‘Hard’ is correct. ‘Hardly’ means ‘almost none’ and

so can’t be used.
18. This falls under the category, 'second conditional', where we use simple past in the

if clause and would + infinitive in the main clause. This conditional is used where the
if clause talks about things in the future that are probably not going to be true, or
are indicative of imagination or dreaming something; or about something that is
impossible in the present. Hence option ‘A’ is the correct answer. Option ‘C’ : ‘had
listened’ would demand ‘would have been enjoying’ in the main clause, for being
correct as third conditional.

30. ‘beseech’ happens to be a synonym of ‘ implore’. Here we need an antonym of
‘implore’. And that is ‘refuse’. Hence option ‘C’ is the correct answer.

31. Option (C) is the correct answer. Errors/corrections appear in brackets : I was angry
on (with) Sri who acused (accused) me for (of) theft of sheeps (sheep).

36. Option ‘D’ is the correct answer. The story talks about ‘utility’ in conserving nature
and also ‘utility’ to human life, and not of ‘ impact’ on either of it or on both.

39. The question asks “What is the word” as in terms of its type of a noun or its function
in that place as a part of speech, and not what it means. So, option ‘B’ is the correct
answer. Option ‘A’, does not state its function, but deals with its meaning, and so is
incorrect as an answer there.

45. Option (B) is the correct answer. The adverbs are, ‘upright’ and ‘outwards’.
48. ‘There’ is an exclamation. ‘There’ is an adverb too. But the question is specific about

being an ‘exclamation’ and no other option is an ‘exclamation’.
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